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= Round (1765.4321, 0) i ! 1765
142/A.88 19
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fd
w1 97
| s —
o § SLN (Straight Line) Method R HeA- e
o . B
0
1 |Cost (z) 5,00
0,000
2 Salvage (%) B 1
5
3 |Useful life (in years) 2
? "
4 |Depreciation . - &
: o fer@d &
=t dfea a1 E e g
17. feenfeldi %1 ofe T T :
D /
C o
- i ks
. : din Mar
Marks Scored in Marks Scored 1n Marks Sc;!:zs Total
____/
. ;Jti?:n:: July 2022 December 2022 March 0as -
425 -
2 |Mohan 300 400 !
291 300 L |
3 |Ram 250 - ?
4 |Gobind 350 300 = :
5 |Kamal 410 390 :
? .
6 |Total Marks ?
T i . ‘ 2
18, TpefafEd & e (Sequential, Mnemonic, Block) &1 ™ ferd |
(a) Code Name of Accounts
SLR Salary Account

BOD Bank Overdraft

(b) Code Account group

100-199 Rooms in First Floor

200-299 Rooms In Second Floor

19. ot § e &uAl @l GA (Delete) EXC % g (Steps) foad |

L - Y
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3x4=12
TR @ o &1 | 4
-
2021 pmm B
Nov. 1 ﬁandim Rupees (Rs.)
Nov.5 |Paid fnmﬂ%s with cash 2,00,000
Ir of i
Nov.9  |Paid fumﬂachmery 20,000
S = —— ment ¢ '
Nov. 12 TFP11.11-.;:}1“-:,‘S‘a s €Xpenses | 20,000
— = . N f
Nov.20 [Sold Stationery f;fy or cash 2,000
T o o | 3,000
I TR & FE 9R <
(i1) Y e | .
m YAl 9YH B g
" Rk TR {556 (Sale), T8 @) A F SR A 1 76 € 4
- o A . B
L Vi 25,000
A 15,000
: 1 March 28,000
4 April 2000 |
3 May 20,000
6 June 36,000
W fordt fasea Y Tor % foe 7 fo |
() ®: TER F F oA (Total Sale) Tl H
b) B: el F sirga fFa (Average Sale) Tl T
(© B T %) % Q w4 fawd (Lowest Sale) Hd & |
E X
(d) B 7 5% stfus @ aiftres fasd (Highest Sale) Tl bl
(i gR ™ ferd | 4
R —
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™ (English Version)

You must write the subpect-conde / paper-conde 142 in the hoy procuded on the hitle page of your
ansirer-book.

) Make sure that the ancavr-hok contains 28 pages (including title page) and
weralled as «on as wu reaeree it ¢ :

Note f1)

ane Flﬂ‘,’l'ffy

(1) Question/s attemy ted after lercing blank page/< in the ansiper-book wonld not Ix coaluated.

(ir) There are three parts in the question paper; ic. Part-A, Part-B and Part-C. part-A l"-';
compulsory for all the students and students may choose only one section from Part-B an

Part-C.

(v)  There is no word, line or page limmit for numerical questions.

(vi) The use of non-programmable simple calculator 1s allowed.
Part-A

(ri1) Question No. 1 carrics questions nf 1 mark each.

Questions No. 2 to 10 carry 2 marks each.

Question No. 11 consists of five sub-sections.  Attempt any four questions oul of five. Fach
ﬁg question carmes 4 marks.
Part-B and C |
() Question No. 12 carnies questions of 1 mark each. ‘t
Questions No. 13 to 19 carry 2 marks each. |
Question No. 20 consists of four sub-sections. Attempt any three questions oul of four. Each

o —

question carries 4 marks.

(1a) Punjabi and Hindi Versions of questions are true translation of English Version. So in the
case of any confusion consider English Version to be Correct.

Part - A

1.  All parts are compulsory. Each question carries one mark : 12x1=12

Multiple choice questions :

(i)  Under which method of valuation of Goodwill, normal rate of return is not required 7
(a) Capitalization Method  (b) Super Profit Method - |
(¢) Average Profit Method (d) " None of these

(i) Anincrease in the value of assets is recorded on which side of the Revalyation Account ? 1

et W

(a) Credit side (b) Debit side
(c) Not Recorded (d) None of these
142/A-SS 29
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() J. K L, Mare in partnership sharing profits and losses in ratio of 9:6:5:5. N’ joinshthe 1

partmership for 20% share. ], K, L and M would in future share profits among themselves
as3:4:2:1. The new profit sharing ratio will be : -

(a) 3:4:251:5 (b) 9:6:5:5:5
() 8:6:4:2:5 (d) 6:8:4:2:5

(iv) X, Y and Z are three partners sha
decided, tO'share profits in equa]

1:4
(¢) 7:10

ring profits in the ratio 10 : 7 . &, Z retired. Xand Y
ratio. Gaining ratio will be :

(b) 10:7
d) 4:1

Fill in the Blanks :

‘ a ‘ o i L ¥
\ ot — against profit. (charge/ appropriation) CL
L .‘h‘-“"‘"
(vi) Revaluation Account is _ v

\Waﬂ 1
(vii) The ratio in which the remainin

. alning partners acquire the retiring partner’s share is called 1
. (Gaining Ratio/Sacrifice Ratio)

L

(viti) On dissolution of firm all assets and liabilities are transferred to the realization account 1
at their — values. (book / market) -

Answer the following Questions :

(ix) han withdrew T 4,000 at the beginning of each quarter. Calculate interest on drau@% 1
te of 6% p.a.

1

( 1

(xii)/ What is Realisation Account ? 1
Attempt all questions from No. 2 to No. 10 which carries 2 marks each. 9x2=18
2. How a partner can retire from the firm ? 2

, . 7,500 p.m. and a commission of 2
; : is entitled to a salar}r‘ of T | nda« >ron ol
3. f;’ﬂau:dﬁQ are pm:tners In a lflal';n: gan}’ commission. Q is entitled to a EDH;{IHBSIDH of 10% of
b 0 fr}tegfl::rﬂfélt:‘. b_eft}lze ;:us Cim .csion. Net profit for the year ended 31% March, 2024 was
proft after charging IMEREE S |

~ . it. .
Z2,20,000. Show the distribution of profi

Lo

23 [Turn over
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3
1,80,000
Workmen Compensation Reserve 2.25,000
Profit & Loss Account (Dr.) 150000
Record the necessary Journal Entries.
5. X and Y were partners dmitted Z as a new partner for 20% share in.thg 2
r loss on revaluatiors

neral reserve, Goodwill, gain © o
ccounts of X and Y were Z 2,50,000 and 3,50,000 respecti’c Y'the
give him 20% share in the profits. Calculate

amount tal to be brought by Z. AT /
" . W g p ~

valued at T 1,80,000. On
was to be calculated
M'’s share in the
Goodwill and M

the balances in ital a

e basis of previous year's profit which was X3
necessary journal entries for the treatment of

7 Debtors appearing in the Balance Sheet of a firm were as follows : 2

Liabilities 4 Assets B
Sundry Debtors 4,00,000
Less : Provision 15,000 T3,35,QUU

bad debts were ¥ 40,000 and the remaining debtors were realised at

On Dissolution of firm,
h amount was realised from Debtors ?

-l

9. Write any two factors affecting Goodwill.

10. Why are ‘Reserves and Surplus’ distributed at the time wﬁmﬁnn of the firm
?

142/A-SS 24
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11.

142/A-SS

Years Net Profit Z
___-'—'—--_._
2021 -22 3,80,000
2022 - 23 I 4,40,000 T
2023 - 24 5,00,000

The capital employed in the firm throu

¥8,00,000. Having regard to

< 2,00,000 per qnhum.

Calculate the value of Goodwill on

(a)

mentioned 3 years.

(b)

Two years’ purchase of su

ghout th

the risk involved,
the capital. The remuneration of all the partne

the basis of following :

-
=

Capitalisation of Average Profit method.

e above mentioned period has been
15% is considered to be a fair return on
rs during this period is estimated to be

per profits earned on average basis during the above

Star and Moon were partners in a firm sharing profits in the ratio of 3 : 2. On 4
31% March, 2024 the Balance Sheet of the firm was as follows :
Lial:!_i-lities ) ; ) Assets - I T )
Capital T CashatBank | 500,000
Star 8,00,000 Sundry Debtors 3,00,000
Moon 6,00,000| 14,00,000|Less : Provision 20,0001 2,80,000
General Reserve T 1,00,000{Investment 3,20,000
(Market Value 2,90,000)
|Investment Fluctuation Reserve 50,000({Land and Building 15,00,000
Workmen Compensation Reserve 25,000(Goodwill 1,50,000
Sundry Creditors 3,75,000 I
Bank Loan _B,UO,UU_U_
) _ |wsoem| . 27,50,000

They admitted ‘Sun’ into
as follows :

25

partnership on 15t April, 2024 for 1/10 share. It was agreed

[Turn over
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—'—_m
T

(a) “‘Sun’ brings ¥ 6,00,000 for his share of capital but could

cash.

(b) Goodwill is valued ¥ 4,00,000

(c) Provision on debtors i needed 10%.

(d) Intereston B
en Compensd 3

s T 15,000 against Workm
|

000 |

(e) Liability to workers 1
s taken by Star at T 38,

nrecurded stock T 40,000 i

H U
Prepare Revaluation Account and Partners’ Capital Account. - o o 4
artners in a firm sharing Piﬂﬁtﬂ:-the e
Sheet f the firm was as ollows -
eet O T e r’?’_—
5_ AEEEt-E ’W
Land and Building i
50,
Furniture 3 i
,60,
10,00,000|Debtors 1
~1,94,000 Bills Receivable 1,50,000
40,000 Cash at Bank | 94;09_0_
12,34,000 / 12,34,000
gl ﬁﬁd liabilities Wer€ settled as

on above date and the ESEE‘tﬁf

follows :
(a) [and and Building was taken over by the creditors as their full and final payment. { /
ttlement of his loan.

unrecorded asset of Z 50,000 in full se

(b) Ekan{ accepted an
«ifor cash payment at 5% less than the b‘cyk

(c) ~Furniture was taken over by Aka
value.

were collected Fuy a dgbt collegtion agency at cost of ¥ 10,000

(d) Debtors
P
vable realised /41,000.

\
(e) Bills Recel
ed to bear all realization expenses. For this service Akash is to b
1S 1O V

(f) Akash agre
000. Actual/expenses On realization ¥ 2,000 was paid by Akash
y Akash.

allowed T 1,

Prepa
(iv) Whatare rules app
1
(v) What adjustments arc reqyired to be made at the time of retir
ement of a partner ? 4
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. All parts are compulsory. Each question carries one mark : 8x1=8
Multiple choice questions :

(i) A company purchased machinery for ¥ 18,00,000 and i . o it 1
20% premium. What will be the face valye of sh:;s ;15153225;demnnn Rt Al

(a) ¥ 21,60,000 (b) ¥18,00,000
() T 14,40,000 d) /% 15,00,000

(i) For whom, analysis of financial statements is not significant ? 1
(a) Investors (b) Government

(c) Ambassador of India (d) Company’s Employees

Fill in the blanks :

(iii) Debenture holders are entitled to get . (dividend/interest) 1
(iv) Horizontal analysis is also known as analysis.  (static/dynamic) 1
(v) Cash flow statement is prepared on the basis of issued by Institute of 1

Chartered Accountants of India. (AS-3/AS-3 Revised)

Answer the following questions :

(vi) What is Capital Reserve ? 1
(vii) Explain redemption of debentures by draw of lots. 1

(viii) Harsh Ltd., a financing company obtained lﬂz}ns a_nd advances of ¥ 10,00,000 for the 1
year @12% per annum. In which activity will it be included while preparing cash flow
statement ? https://www.punjabboardonline.com

ﬁtt:&mpt all questions from No. 13 to No. 19 which carries 2 marks each. 7x2=14

13. Write any two limitations of financial statements:

14. Ritu Ltd. forfeited 2,000 shares of Z 20 each issued at 10% premium to Neeru (¥ 18 called up) 2
on which he did not pay T 6 of allotment (includlﬂg Pl'Emium) and first call of ? 4. .Out of
these, 1200 shares were re-issued to Goldy 2 fully paid up for ¥ 16 per share. Give journal

entries for forfeiture and re-issue of shares:

142/A-SS 27 [Turn over
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15,

of X 50 per
rECewedpfﬂrd;bE“mrE The full amount was payable on application erEpPl tEd* aru::5 the
S 0,000 debentures. Applications for 10,000 debentures W€ plicants on
application pplications for 10, aining aP
™Money was refunded. Debentures were allotted to the 1€

ro-rat :
i': a basis. Ly of ABC Ltd.
a8s the Necessary journal entries for the above transactions in the bo©

16. i - ing 1 *
A firm has current ratio of 3.5 - 1 and quick ratio 2: 1. Assumung inventory
out total current assets and total current liabilities.

; renlars 2
17.  Calculate Cash Flow from Investing Activities from the following partic . 2024
18t April, 2023 3% Marc, 2
3 At )
,20,000
Plant & Machinery (Written Down Value) 14,40,000 1
Information :
(i) Depreciation charged during the year < 1,70,000.
(ii) Plant & Machinery having a written down value of T 2,20,000 was sold for ¥ 2,50,000.
2

18. Give any two differences between Calls in Arrears & Calls in Advance.

19. What are the convertible Webentures ? | ‘.

20. Do any three questions out of four questions. Each question carries 4 marks. 3x4=12

(i) Write any four differences between ‘Share” and ‘Debenture’, 4

(i) Ambuja Ltd. issued for public subscription 2,00,000 equity shares of Z 7
premium of I 10 per share payable as under : Qeachata 4

On application < 10
On Allotment < 14 (including premium X 10)

On First & Final call 6

Applications were received for 3,00,000 shares. Allotment
the applicants and the money overpaid on application was y4;;

on allotment.
Pooja, who applied for 3,600 shares failed to pay the allotmep; and
shares were subsequently forfeited. Two-third of the forfejteq sh Call money and the

Sandeep as fully paid-up at ¥ 16 per share. Show the jﬂumal zlefrjﬁere re-issued to

above transactiondws ies to record the

;?Elde Pro-rata to all
toWards sums due
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(111) Fl‘(}m

@ following informatia
for the year ended 31t Marc

L2024

0 pml‘ﬂ!‘l‘ | Eﬂlnl‘ﬂrﬂ“\'l‘ i“n\nw Hti\ll‘lﬂt‘“l ol Al tn Lh].

—
' p— il
Particulars Kh March, 2024 3 Mareh, 2023
E;,?*" \I\G{ ) R)
nu : — 1 __
-(.:..________E_from Ovperations £0,00.000 | 20,00,000
-Ost of Material Cﬂnsumh —— T
|Other E?:I_Jenses : *l\ 30,000,040 IE,HU,UU[______}
& 12% of Costof | 10% of Cost of
ITax Rage L Materia] Consumed Material Consumed
- — I 30% 30% :
PI‘EparE C . - o - o
( Omparatijye Income t tEment
V) Write an e
Y four limitatig
NS of cagh flow statement 4
12 —
- All
M p?r "y “ompulsory. Each question wij .
ultiple chojce questions ATy one mark 8x1=§
(i) ({i)x;e Or more cells selected is called ; *"‘%
4) Range
© Label (b)  Text 9 1 ]
(d) Formuyla
(i) t‘\’:ﬁch chart is also known as SCatter chart ?
a) XY
() zZX v 1
(d)  None of these
Fill in the blanks .
(i) : IS not a featyre of computer. (Accuracy/ Intelhg,_.ncy)
(iv) | Command of - In tally is used to delete 2 vouchery ( Altﬂj/ ine 1
(V) PMT Method is used to prepare 1
(Payroll statement/[oap, Tepaymen; state 1
ent)
Answer the fnllnwing questions - ol
(vi) Write the name of any three types of accounting software, % ;\ X
(vii) Write any one Security feature of computerized accounting Software 1
(viii) What do yoy mean by spread sheet ? 1
1
142/A-SS - [T
urn Over
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Attempt all questions from No. 13t

13. What do you mean by D

14. Write any twoO fe

15. Complete the following ¢

16.

17.

ata Audit ?

able :

—

Fur;ula

~ Round (17654321, 2) |

~Round (1765.4321,0)

e ——

Write the formula to

7x2=14

MS Excel.
A B
1 |Cost () 5,000
5 |salvage R) 10,000
3 |Useful life (years) 5
4 |Depreciation ?
Marks sheet of students is given below :
Complete the table by writing formulas in Row 6 an
A B C D E
__-—-_-_—___—_ pradl —— -
Name of Marks Scored in Marks Scored in Marks Scored in
' Students July, 2022 December, 2022| March, 2023 Total Marks
2 |Mohan | 300 400 425 S
3 [Ram 250 291 300 _?__—-I
5 (Kamal 410 390 415 .
6 |Total Marks ? ? ’
30
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g, Write the code name (Sequential, Mnemonic, Block) of the following : 2
(a) Code Name of Accounts
Salary Account
Bank Overdraft :
(b) Code Account group ¥
100-199 Rooms in First Floor
700-299 Rooms in Second Floor
19. Write the steps to delete a company in Tally, 2
20. Do any three questions out of four questions. Each question carries 4 marks. 3x4=12
(i)  Prepare cash account in Tally from the following transactions : 4
B il - ] I
2021 |Particulars Rupees (Rs.)
Nov.1 |Sandip started business with cash 2,00,000
Nov.5  [Paid for repair of machinery 20,000
_NDV- 9 |Paid for refreshment expenses 20,000
Nov.12  |Purchased station:ry for cash 2,000
- - __________._._——-—_ — s
Nov. 2?__ Sold stationery for cash 3,000
d

) Write any four advantages of preparing S

142/A-SS 31 [Turn over
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(iii
} The monthly sales of a company for the first six months a%¢ giver belo¥

T T
1 January 25,000
2 February 15,000
3 March 28,000
[ _ .
4 | April 32,000
S May 20,000
6 June 36,000

Write the formulae to calculate Sale :
(a) Find the total sale for the six months

(b) Find the average sale of the six months

(c) Find the lowest sale of the six months
(d) Find the highest sale of the six months

(iv) Write any four advantages of computerized accounting system.

-000-
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